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Solving Two Step Addition and Subtraction Word Problems

No.

Queston.

Calelaton requred
Do brackets i)

Answer

g

The cinema has 700 seats — 113 odults and 276
children come to see the fim. How many empty
seats e there?

700- (113 +276)

31T empty seats

Dorothy & saving her money for @ new ke
costing £285, If she has already saved £39 and
is then given £59 for her birthday, how much
more does she need to save?

(A studj o] 900 pecple Jound that 687 were right
handec, 174 were efe handed cnd tne remcinder
were ambidextrous (could use eher hand), How
many were ambidextrous?

e 12
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The crisp Jactory neds to make 875 bags an hour I o
machine brecks down and the factory only makes 323
bags in one how, how mang does it need to make in the
next hour to catch up?

Dave cams £1485 a month a5 a bus drver and his
wafe eams £1760 as a teacher f Dave gets a pay rse
of £217  month how mach les than his wie does he

1 Willam Shakespeare wics born in 1564 ond lved 1o
be 52 years old, how many years ago dd he die?
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